GRADE 8 MATH UNIT 5 MID-UNIT ASSIGNMENT

Name: Mark =—
34

Section A: Selected Response. Write the correct response on the space allocated. (1 mark each)

1. Which represents 5.5% as a decimal?

55% = 0.04 g

2. 32.5% as a fraction in simplified form is:

2 o5 NI =32.% 2728

b 32 |§ - _ZB rg
* 100 Q0 = =
. 25 loog~ 26 1O

100

/LQQ)oHoM

_3.Write§asapercent. Y 06'25: (a?sd)o

a. g%
b. 0.6%
d. 64% P o/a
_ 4.110% of a number is 75. What is the number? T\_J = |—00
2 682 OX N "1& 15 _ 16
{0 116 QR X “106
d. 825 N= 2L (10 = 1500 b2

{
5. On Maple Leaf Day, 92% of the students wore a Toronto Maple Ilea?hat. If\ %2%
students wore a hat, how many students attended spirit day? (Round to the nearest whole

number) 0. QLY N = (YA -‘)— = 9/
g_ ég 0.92 042 O_R W |0[)
3 T @15

q?x 6___0 x@W
L 9l
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6. Which simplified fraction represents the following hundreds grid:

76.5

00 opp 200
r
o Reduce

7. The price of a lightsaber costs $125. This year it can be purchased for
$175. What is the percent increase?

sy Ychoroe= New-Origral  (15-1% 1o
N:\ or'loa'lm\ X\00 = 129 X‘DD_L‘O/O

\

0. x100=04 =40,

d. 71%

PN m— -
8. What is 150% of 807?

a15 |.50x %0
b. 80 ol

2y =120 =

P 0/ 9. What is 0.7% of 30?
L' A 9 1% p _ 000
NINTY. 20021 0.007 x30 (00X = l_z,g

X _o0%F = 0.21 b0 197

100 42 ‘ X ‘-('ZOS

0
OO___X =2 10. Leia and Han ate a meal that cost $74.99. If they left a $17.50 tip, what percent tip
10 109" Giid they leave?

v20.21 Loz %_%_ OB3M= W KO8
RED, '

d. 430%
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Section B: Constructed Response. Complete all questions for this section. All workings must be
shown for full marks.

1. Complete the following table. Make sure the fractions are written in simplified form:

(6 marks)
Percent Decimal Fracton
150% 1 20 i} '2/\060 = 5
=% _ 05!5,0/" 0.0083 cf_a_o
223, 2.23 2_3!}50 -
75% 0.25 1\1'
240% 2.4 5
0.125% | o0.00125 m

2. Use a grid to represent each of the following percentages. Not all grids provided may
need to be used.

(1 mark each)

(@) 164%
AAAAAARAAAV
/ MV VAN
g MAAANANA
4 nAAA -V "
/ /: p g6 7
S S S A7
I R A
(b) 22.12 %
FARAAAA A A |
AV o
L ¥’ €7 |
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3. Calculate thefpercentage of increase or decrease.Round answers to the nearest tenth.)
(2 marks each)

(@) Poe bought a rare pistol for $125 and later sold it for $425. What is the percent

increase? 0
% ncrease = L('l'\S?—-é 2100 = 240%

o N

(b) The price of a computer is reduced from $1290 to $800. What is the percent decrease
in price?

%00 - 1230 )
9 = x100 = -~ 37 o\? 0
)/, decreage 55
N éafﬁ’éc? ‘what s the original prce of e shires | f°{72°(y‘;,ff?z'fnﬁ?iis§aveo¥ '\ f\;( nal
\00'9 "QOJ)() = 9% O%OK’\ ) \650 W " Tob | ‘) \(¢
0% of ()ninal S\a.({ g "0 \6S0 _ 80 1S 390.(03
020X N =1650 801650 [0

(b) After a price reduction of 85%, the sale price of a Montreal Canadiens jacket IS $45.
What was the original price of the Jacket’)

100-95= 15D |59, of ariqinalis Selc %—_

0\5x N =4S S 15

0.15 42
0.1S X - 06
i n- SOOS lS_X: L|¥0
|
X.= 300
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5. In a basketball tournament, Alex made 23 out of 80 shots and Mason made 38 of 145
shots. Which player had the better shooting percentage? (2 marks)

Mex. g5 ©0-2879>2875% Rlex. had the

. 3% ) hetter shootin
Massn® g = 0.262 =262 & percentoog j

6. A Star Wars hoodie costs $100. It is now on sale for 15% off. However you must also

pay 15% sales tax. Would the hoodie cost you $100, less than $100 or more than $100.
Explain your reasoning. (2 marks)

%o\\e Price 1S 5o oF 800 Total Pﬁ(c with Tax
=|.19x €5
%a\eﬂ)r} « =~ 08100 i ﬂon ,_}5

= $gS The hoodie would cost \ess Fon

lob ,Sinee 150 toxisapplied to

7. Itis Discount Days at the local Star Wars shop. All lightsabers are marked down at 30% Sq(e prl (8
off. George buys a light saber and saves $24.00. If tax is 15%, how much change does he

get back from a $100? Show all workings. (4 marks)
Dis«”“*@ 30‘%@0ri33v\o\\ Total Price 'lr\t;\uo\iq.zs boxes
24 =030 x N = .51 56
0-3 0.30 - 6440

0=n

origjine! priceis 980 Rmount ot Change
| Ly = 925,60
SO\\Q Pl‘,ce = %O "ZL\ - %(0




